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Fibonacci Folge

Benannt nach Leonardo Fibonacci (um 1170 - 1240, Pisa)

fn+1 = fn + fn−1 für n ≥ 2,

wobei
f1 = f2 = 1
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Ablauf des Aufrufes von fib(3)
def fib(n):

if n <= 2:

return 1;

F = fib(n-1) + fib(n-2)

return F;

F = fib(4)

n = 4

F = fib(3) + fib(2)

n = 3

F = fib(2) + fib(1)

n = 2

F = 1

n = 3

F = 1 + fib(1)

n = 1

F = 1

n = 3

F = 1 + 1

n = 4

F = 2 + fib(2)

n = 2

F = 1

n = 4

F = 2 + 1
F = 3
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